
STYKLISTE
Side 1

MODEL 9035N

Pos. Art.nr. Betegnelse Stk. Note

001 819001-5 MAKITA SKILT   1

002 181758-1 MOTORHUS###   1

INC. 3,11,35

003 263002-9 GUMMISTIFT 4   1

004 210025-8 RILLEKUGLELEJE 627LLD   1

005 191627-8 KULSÆT CB-64   1

006 643552-4 KULHOLDER 5-8 (6410)   2

007 651232-8 AFBRYDER SGEL206C###(651268-7)   1

008 911158-9 SKRUE M4x30   5

010 855170-8 TYPESKILT (9035N)   1

011 263002-9 GUMMISTIFT 4   1

012 211106-1 KUGLELEJE 6201LLB   1

013 961016-9 STOPRING E-10 (2704)   1

014 517048-0 ANKER (9035N)   1 220V

INC. 4,12,13

015 911133-5 SKRUE M4x18 (BO4510)   2

016 687031-2 KABELAFLASTNING (BO4510)   1

017 682502-4 KABELBESKYTTER 8-85   1

018 665383-1 ANSCHLUSSLEITUNG   1

019 685725-3 SKUMGUMMI   1

020 645209-3 KONDENSATOR 645209-3   1

022 528632-6 FELT (9035N)   1 220V

023 241645-7 VENTILATOR   1

024 211131-2 KUGLELEJE (SP6000)   1

025 267001-3 SKIVE 7   1

026 911106-8 SKRUE M4x8 (4157KB)   2

027 421273-6 HOLDER   2

028 163107-4 KLEMME (9035SB)   2

029 265005-9 SCHRAUBERUKO M4x12 9035N   4

030 150344-9 GRUNDPLADE KOMPLET   1

031 163223-2 OMSKIFTERARM (9035N)   1

032 231572-6 FJEDER   1

033 410436-9 KUGELLAGERGEHAEUSE   1

034 251372-8 SCHRAUBE M5x12   1

035 181758-1 MOTORHUS###   1

INC. 2,3,11

400 794028-5 ABRASIVE PAPER SET 93   1



EKSPLOSIONSTEGNING
Side 1

MODEL 9035N


